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MATHEMATICAL METHODS (CAS)  
Units 3 & 4 – Written examination 1 

 

 

2012 Trial Examination 

 
SOLUTIONS 

 
 

Question 1 
a. ���� � 2� � 	
����� � 2 � 3� � 	
����� � 5� 

M1+A1 

2 marks 

 

b. �������� � �
������ � 4�� � ���

������ 
 

M1+A1 

2 marks 

 

c. ������2�� � ������
��������� � ���

��  

 
A1 

 1 mark 

 
Question 2 

a. ����
� � 10�"#

$ � 0 

5%�
2 � 10% � 0 

5%�% � 4� � 0 

% � 0 
' % � 4 

Since % ( 0 , % � 4 
M1+A1 

2 marks 
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b. * cos ��
�" .� � 2/01 ��

�"#
2 � 22

#  

 

M1+A1 

2 marks 

Question 3 

a. � � �434
� � 1 

� � 1
�4 � 34

�  

5
2 � 	
���1 � �

4 � 

������ � 2	
���1 � �
4 � 

M2+A1 

3 marks 

 

b. 1 � � 6 0 

7
8%01 
� ������ 0/ ��∞, 1�� 
M1 

1 mark 

 

c. 2	
������
� � � 0 

�1 � �
4 � � 1 

1 � �
4 � 1 

� = -3 
            
           M1+A1 

2 marks 

Question 4 

a. 3 cos�2�� � � �√�
�  

cos�2�� � � √3
2    �
'  � ; < 2� < ; 

2� � 5;
6 , � 5;

6  

� � 5;
12 , � 5;

12 

M1+A1 

2 marks 
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b. �3 sin�2�� � 2 � 0 

2� � 0, ;, �; 

� � 0, ;
2 , � ;

2 

 
M1+A1 

2 marks 

 

c. �0, 2
�� 

M1 

1 mark 

Question5 

@�1 00 �2A �@�5A � @�15 A" � B�C5CD 

@�1 00 �2A B� � 15 � 5D � B�C5CD 

B �� � 1�25 � 10D � B�C5CD 

�� � 1 � ��  %1.  � 25 � 10 � 5C 
         � � ��� E 1  %1.  5 � �5� � 10

2  

�5� � 10
2 � |��� E 1 � 2| � 3 

     5C � 10 � �2|�� � 3| � 6  
 

     5 � �2|� � 3| � 4 
M2+A2 

4 marks 

 

Question 6 
 

a. G � �
� ;'�H � 18; 

M1 
1 mark 

 

b. G � �
� ;'�H � �

� ; �J
�"� � H � 2

�� H� 

.H

.K � .H
.G � .G

.K � 4
;H� � 2 � 2

9; 8// 

M1+A1 

2 marks 
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Question 7 
 

���� � √�,   ����� � 1
2√� 

√24.95 O √25 � 0.05 � 1
2√25 

O 5 � 0.05
10 O 4.995 

M1+A2 
3 marks 

 
Question 8 

a. * P���� � 5� � 4�.� � 1�
�  

P Q� ��
3 � 5��

2 � 4�R
�

�
� 1 

 

which gives P � �
S 

M1+A2 
3 marks 

 

b. Pr�V 6 3� � �
S * ���� � 5� � 4�.��

�  

                    � 2
9 W�64

3 � 40 � 16 � 27
3 � 45

2 � 12Y 

                   � 7
27 

A2 
2 marks 

 

Question 9 
a. 8 � 200 (95% means 2 standard deviations from the mean) 

M1 
1 mark 

 

b. Pr�V Z 210� � Pr �[ Z ��#���#
�# " 

                          � Pr�[ Z �1� � Pr�[ 6 1� � 0.16 
M1+A1 
2 marks 

 

c. Pr�V 6 230|V 6 220� � \] �^_��#�
\] �^_��#� � \] �`_��

\] �`_#� � #.�a
#.� � �a

�# � b
��   
'  0.32 

 
M1+A1 
2 marks 


